Unique Auctions Catalogue 16 Aug 2017

- 1 A petrol mower £60.00 £80.00
- 2 A Flymo mower and other items £10.00 £20.00
- 3 An old wheelbarrow £10.00 £20.00
- 4 A lawn mower and a strimmer £10.00 £20.00
- 5 A mixed lot of glassware including coloured etc £10.00 £20.00
- 6 A mixed lot of tea and dinner ware £10.00 £20.00
- 7 4 Staffordshire figures £20.00 £30.00
- 8 A large quantity of bayonet long life 15w light bulbs £30.00 £40.00
- 9 A toy horse pulling and hansom cab and one other £10.00 - £20.00
- 10 A boxed crystal ball and a Caithness paperweight £10.00 £20.00
- 11 A 3 piece silver plate tea set, coaster and tureen £20.00 £30.00
- 12 A pair of porcelain figures and 2 others £10.00 £15.00
- 13 A mixed lot of ceramics including planters £10.00 -£20.00
- 14 A pair of gilded wall lights £40.00 £60.00
- 15 A romantic figure group £8.00 £10.00
- 16 A mahogany letter rack £8.00 £10.00
- 17 A large quantity of tea and dinner ware £10.00 £20.00
- 18 2 shelves of Christmas items £10.00 £15.00
- 19 A Maling bowl, a large vase, a large plate and a tankard £15.00 £20.00
- 20 A 19th century engraving £10.00 £20.00
- 21 A mixed lot including dolls etc £10.00 £20.00
- 22 A mixed lot of sewing items including sewing box £10.00 £20.00
- 23 A quantity of new mirrors and prints on canvas £5.00 £10.00
- 24 A jardiniere and a plaster figure £10.00 £20.00
- 25 2 driftwood carvings £5.00 £10.00
- 26 A quantity of collector's plates etc £10.00 £20.00
- 27 4 stoneware hot water bottles £10.00 £20.00
- 28 A quantity of vintage dolls and a teddy bear, a/f £10.00 £20.00
- 29 2 boxed pairs of ladies Kickers boots (both size 5 according to boxes) £10.00 £20.00
- 30 An Olivetti portable typewriter £10.00 £15.00
- 31 A quantity of jigsaw puzzles £10.00 £15.00
- 32 6 Royal Doulton character jugs £20.00 £30.00
- 33 12 bottles of assorted wine £10.00 £20.00
- 34 A mixed lot of brewery items including wall lantern £15.00 £20.00

- 35 4 albums of first day covers £10.00 £20.00
- 36 A mixed lot of various figures £10.00 £20.00
- 37 A box of curtain tie backs £10.00 £20.00
- 38 2 table lamps £10.00 £15.00
- 39 2 Lilliput lane cottages £8.00 £10.00
- 40 2 pairs of figures and 2 others £10.00 £20.00
- 41 9 framed and glazed 19th century German engravings £20.00 £30.00
- 42 A mixed lot including wine coolers, trinket boxes, fans etc £10.00 £20.00
- 43 3 'Rare Record' price guides £10.00 £15.00
- 44 A vintage computer monitor £10.00 £15.00
- 45 A retro magazine rack and one other £5.00 £10.00
- A pair of decanters on stand, a plated cake stand and a candle lamp £8.00 £10.00
- 47 A boxed Grecian style salt and pepper mill £10.00 £15.00
- 48 A vintage tie rack, bell etc £10.00 £15.00
- 49 3 blue and white figures £8.00 £10.00
- 50 A chess set and a quantity of books £10.00 £20.00
- 3 boxes of electrical fittings £8.00 £10.00
- 52 2 kitchen stools £8.00 £10.00
- 53 A Toby jug £5.00 £10.00
- A quantity of models including Volkswagon van, horses and carriages etc £20.00 £30.00
- 55 11 bottles of wine £10.00 £20.00
- 56 A mixed lot of glass ware including salts £10.00 £20.00
- 57 A quantity of new folding walking sticks etc £10.00 £20.00
- 58 A projector etc £10.00 £20.00
- 59 A mixed lot of glass ware £10.00 £20.00
- A mixed lot including butter dishes, tea ware etc £10.00 £20.00
- 61 A mixed lot including tools, jump leads etc £10.00 £20.00
- 62 A vanity case, bags etc £10.00 £15.00
- 63 A metal ceiling light etc £8.00 £10.00
- 64 A mixed lot of soft toys £10.00 £15.00
- 65 A mixed lot of brass ware £10.00 £20.00
- 66 A quantity of first day covers etc £10.00 £20.00
- 67 A mixed lot including icing set £8.00 £10.00
- 68 A mixed lot including foot spa £8.00 £10.00
- 69 2 bedroom chairs £10.00 £15.00

1

70 A mixed lot including pair vases, teapot etc £10.00

	- £20.00	108	A large lidded pot, a/f £10.00 - £20.00
71	A quantity of Ty Beanies £10.00 - £15.00	109	A set of 3 brass fire irons £15.00 - £20.00
72	A mixed lot including figures, photo frame etc	110	3 tripod tables and a 3 tier stand £20.00 - £30.00
	£10.00 - £20.00	111	A box of LP records £10.00 - £15.00
73	A pair of framed and glazed 19th century studies	112	A quantity of Christmas decorations £5.00 - £10.00
7.4	of fighting men £10.00 - £20.00	113	A blanket box £10.00 - £20.00
74 75	A box of chandelier parts £10.00 - £20.00	114	2 wooden table lamps £5.00 - £10.00
75 70	9 items of crested china £8.00 - £10.00	115	A pine bedside cabinet £8.00 - £10.00
76	A large quantity of pipe fittings etc £10.00 - £20.00	116	A 3 drawer chest and a pair of matching bedsides
77 70	2 table lamps £5.00 - £10.00		£10.00 - £20.00
78	A continental porcelain table centrepiece and candelabra, a/f £20.00 - £30.00	117	A lease quantity of art materials \$20.00
79	An early Mason's Ironstone plate and one other	118	A large quantity of art materials £20.00 - £30.00
	Ironstone plate £10.00 - £20.00	119	A garden table and a parasol £5.00 - £10.00
80	A mixed lot of glassware £10.00 - £15.00	120	A microwave oven £10.00 - £15.00
81	A five lamp ceiling light with ceramic fittings £8.00 - £10.00	121	A Computer table £5.00 - £10.00
00		122	A D shaped table £10.00 - £15.00
82	A mixed lot of brass ware including large plaque, bin etc £15.00 - £20.00	123	A 2 drawer chest \$5.00 - £15.00
83	A mixed lot of costume jewellery £20.00 - £30.00	124	A 3 drawer chest £5.00 - £10.00
84	A large quantity of records and cassette tapes	125	A pair of bedside cabinets £10.00 - £20.00
	£10.00 - £20.00	126	2 bedside cabinets £10.00 - £20.00
85	2 19th century Staffordshire figures £10.00 - £20.00	127 128	A dressing table £8.00 - £10.00 A retro stool £10.00 - £15.00
86	A Lec fridge freezer £10.00 - £20.00	129	A quantity of tea cards in albums £10.00 - £20.00
87	A garden spade, garden fork, large fuel can, tools including drill bits etc £10.00 - £20.00	130	A retro stool and mirror £10.00 - £20.00
88	A Corby trouser press £5.00 - £10.00	131	A mahogany occasional table £20.00 - £30.00
89	A large quantity of mixed ephemera including The Spectator, The New Yorker, Talk, The New	132	2 black and a clear glass television stands £10.00 - £15.00
	Statesman etc £10.00 - £20.00		A teak bureau £20.00 - £30.00
90	An old wheelbarrow £10.00 - £15.00	134	A mahogany Pembroke table £20.00 - £30.00
91	A pink sofa £20.00 - £30.00	135	A 3 drawer bedside chest £5.00 - £10.00
92	A brown leather sofa £20.00 - £30.00	136	2 step stools and 2 step ladders £10.00 - £15.00
93	A brown sofa £20.00 - £30.00	137	A mahogany bookcase £20.00 - £30.00
94	A garden table and 2 chairs £10.00 - £20.00	138	A mahogany effect wall unit £20.00 - £30.00
95	A box of soft toys and dolls £10.00 - £20.00	139	A 1930's wardrobe £8.00 - £10.00
96	2 pink dralon bedroom chairs £10.00 - £20.00	140	A folding table £5.00 - £10.00
97	An extending dining table £15.00 - £20.00	141	A modern credenza £30.00 - £40.00
98	3 boxes of books and magazines £10.00 - £20.00	142	A mahogany effect cabinet £20.00 - £30.00
99	2 mahogany plant stands £20.00 - £30.00	143	A 3 drawer chest £10.00 - £20.00
100	A large quantity of prints, picture frames, photo albums etc £10.00 - £20.00	144 145	A bevel edged mirror £5.00 - £10.00 A foot stool £5.00 - £10.00
101	2 boxes of books £8.00 - £10.00	146	A 4 drawer filing cabinet £15.00 - £20.00
102	A quantity of pipe fittings £5.00 - £10.00	147	A teak wall unit £20.00 - £30.00
103	A Raleigh stowaway bicycle £10.00 - £20.00	148	A stool and a pouffe £5.00 - £10.00
104	A folding bed £10.00 - £20.00	149	A quantity of jigsaw puzzles £5.00 - £10.00
105	4 table lamps £10.00 - £20.00	150	2 smokers stands and a walking stick £5.00 -
106	A 2 door cupboard £8.00 - £10.00		£10.00
107	An arm chair £8.00 - £10.00	151	A Pine book rest £8.00 - £10.00

152	An oak gate leg table £10.00 - £20.00		£20.00
153	A mahogany wall hanging cabinet £20.00 - £30.00	188	An album of 78 rpm records £10.00 - £15.00
154	A 3 drawer chest £10.00 - £20.00	189	An unusual pipe rack with faces to front £20.00 - £30.00
155 156	A wardrobe £10.00 - £15.00 A bedside cabinet £5.00 - £10.00	190	A Royal Doulton figurine 'Elegance' £10.00 - £20.00
		191	4 Border Fine Art bird figures £10.00 - £20.00
157	A mahogany effect 2 door cupboard £10.00 - £15.00	192	3 gilt framed prints and 3 other picture £10.00 -
158	A 1930's sideboard £10.00 - £20.00		£20.00
159	A set of 4 BMW 16" alloy wheels with tyres £250.00 - £300.00	193	A figure of a golfer, a soldier figure and an oriental figure £10.00 - £20.00
160	A pelmet, curtains etc £5.00 - £10.00	194	A Shorter 'Toby' 3 piece tea set £10.00 - £20.00
161	A tin trunk £8.00 - £10.00	195	A floral encrusted basket surmounted bird and a
162	An oak serpentine front bureau, a/f £50.00 - £70.00	196	porcelain posy £10.00 - £20.00
163	A garden bench £10.00 - £20.00	196	A 19th century corkscrew with brush and a pipe with bowl in the form of a Georgian lady's head a/f
164	A pair of ivory glove stretchers £10.00 - £15.00		£10.00 - £20.00
165	3 Thomas Calvi quartz wrist watches £10.00 - £20.00	197	A mixed lot including metal figures, compact, pens, jewellery etc £10.00 - £20.00
166	2 Asian figures £10.00 - £20.00	198	A quantity of fishing reels £10.00 - £20.00
167	3 Clarice Cliff jam pots £20.00 - £30.00	199	A Carlton ware dish, a Shorter mint sauce jug with
168	A heavy metal eagle paperweight, one other and a paper clip £10.00 - £20.00	200	stand and one other dish £10.00 - £20.00 A Wade tortoise and 4 others £10.00 - £20.00
160		201	A David Stuart ram and an old English sheep dog
169	2 oriental medallions, 2 necklaces etc £10.00 - £20.00	201	£10.00 - £20.00
170	A collection of cloth badges £10.00 - £15.00	202	An Olympus OM101 camera and a Sony cyber-
171	A miniature Grandfather clock and 2 others £10.00		shot digital camera £10.00 - £20.00
172	- £20.00 A large quantity of coins £10.00 - £20.00	203	A box of miscellaneous collectibles £10.00 - £20.00
173	A quantity of glass decanter stoppers etc £10.00 -	204	An album of negatives £10.00 - £20.00
	£20.00	205	An album and loose stamps £10.00 - £20.00
174	An album of coins and other coins £10.00 - £20.00	206	A quantity of badges etc £10.00 - £20.00
175	A Val St Lambert paperweight of an eagle head £10.00 - £20.00	207	A 3 piece silver plated tea set £10.00 - £20.00
176		208	6 Lilliput Lane cottages (2 a/f) £10.00 - £20.00
170	7 small elephants £10.00 - £20.00 A quantity of lead and plastic figures including	209	A pair of Punch and Judy door stops £10.00 - £20.00
177	Games Workshop £10.00 - £20.00	210	A mixed lot of glass ware including Royal Doulton
178	A cash box of coins, German and other bank		ships decanter £10.00 - £20.00
	notes and 2 1941 Hitler invitations £20.00 - £30.00	211	24 boxed Models of Yesteryear Matchbox vans
179	A stamp album and loose stamps £10.00 - £20.00	0.4.0	£30.00 - £40.00
180	A mixed lot of costume jewellery £10.00 - £20.00	212	A hand painted coffee set £10.00 - £20.00
181	A Beswick Yorkshire terrier £10.00 - £15.00	213	A modern plant stand £10.00 - £20.00
182	A quantity of small tin plate friction and clockwork toys including Tri-ang Minic £10.00 - £20.00	214	A quantity of marble eggs, fruit etc £10.00 - £20.00
183	A cased set of 6 cake knives and a cased set of	215 216	A retro style radio/CD player £10.00 - £20.00 A quantity of scale weights £10.00 - £20.00
	fish knives and forks £10.00 - £20.00	217	A quantity of football related books, biographies,
184	A mixed lot of costume jewellery £10.00 - £20.00	<u> </u>	autobiographies etc £10.00 - £20.00
185	A vintage hand bag style table lamp £20.00 - £30.00	218	A new boxed ceiling light £10.00 - £20.00
186	A boxed Robert Harrop Camberwick Green barrel	219	A box of LP records £10.00 - £15.00
100	organ £10.00 - £20.00	220	A box of assorted money boxes £10.00 - £15.00
187	6 pieces of Mason's Ironstone china £10.00 -	221	2 boxes of assorted books £10.00 - £20.00

222	A wooden case and 2 other boxes £10.00 - £20.00		£10.00 - £20.00
223	A mixed lot of ephemera including Royal Weddings, Mount Saint Helena eruption, NATO	254	A 1970's six million dollar man figure and quantity of action man dolls with bicycle £15.00 - £20.00
224	hand book etc £10.00 - £20.00 A large quantity of play worn die cast including Matchbox, Corgi etc £20.00 - £30.00	255	A collection of silver plated ware including cocktail shakers, condiment set, 2 branch candelabra, tray and 3 goblets £10.00 - £20.00
225	2 large coloured glass brandy/fish bowls (2 with cats hanging from side) £10.00 - £20.00	256	2 framed and glazed fabric applique's entitled 'Morris Dancing Green Goddess Style Athena' and
226	A nest of 3 teak tables £10.00 - £20.00		'Morris Dancing Greek God Style Satyr' £20.00 -
227	A mixed lot of owl ornaments etc £10.00 - £15.00	0.5.7	£30.00
228	A mixed lot including Royal Albert place mats, sandwich set etc £10.00 - £20.00	257	A 1970's Scandinavian mould blown geometric art vase £20.00 - £30.00
229	A Victorian black lacquered 'D' shaped clock shelf with mirror £20.00 - £30.00	258259	A mixed lot of sea shells £10.00 - £15.00 A Hornby Toy Story 3 part train set and a quantity
230	An enamel flour/bread bin £10.00 - £20.00		of ERTL Thomas the Tank Engine train items £20.00 - £30.00
231	A metal based table and a magazine rack £10.00 -	260	An oval cheval mirror £10.00 - £20.00
232	£15.00 A mixed lot of play worn Dinky and Corgi die cast	261	A pair of framed and glazed continental scene prints £10.00 - £15.00
233	toys £10.00 - £20.00 A large silver plate on copper tray £10.00 - £20.00	262	A pair of pine framed Cadbury signs £10.00 - £20.00
234	A mixed lot of cutlery £10.00 - £20.00	263	5 items of glassware including art deco table
235	A spinning wheel, a/f £20.00 - £30.00		centrepiece £40.00 - £60.00
236	A copper coal scuttle together with a mixed lot of brass and copper etc £10.00 - £20.00	264	5 Jamie Oliver cheeky mugs in tins and a floral decorated tray £10.00 - £20.00
237	A pair of chairs £10.00 - £15.00	265	A quantity of Hornsea storage jars £10.00 - £20.00
238	A quantity of Matchbox models of yesteryear including gift set £20.00 - £30.00	266	A pair of figures and a quantity of ceramic tiles £10.00 - £20.00
239	A large brass Lion head door knocker £20.00 - £30.00	267	A table lamp and a 5 arm chandelier £10.00 - £20.00
240	A large plastic battery boat and a submarine £10.00 - £20.00	268	A quantity of Hornby and Triang 00 gauge engines, carriages and track £20.00 - £30.00
241	A mixed lot of glass including decanter £10.00 - £20.00	269	A quantity of books including novels, biographies etc £10.00 - £20.00
242	10 'New Ninepenny' novels published by Ernest Benn Ltd., April 1932 £10.00 - £20.00	270	A Safewell electronic safe, (key in office) £10.00 - £20.00
243	A set of 4 framed and glazed military prints £10.00 - £20.00	271	A quantity of household items including telephones, George Foreman grill etc £10.00 -
244	A good quality modern sideboard £20.00 - £30.00		£20.00
245	A set of vintage head phones £10.00 - £15.00	272	A pair of wall planters £10.00 - £15.00
246	An art deco plaster figure of a dog £15.00 - £20.00	273	A double school desk £10.00 - £20.00
247	A framed Lincoln street scene signed Richard	274	An electric portable typewriter £10.00 - £15.00
0.10	Riley 1985 £10.00 - £20.00	275	An industrial angle poise lamp £10.00 - £15.00
248	A pair of wood panels depicting nautical scenes £10.00 - £20.00	276 277	A wall mirror £5.00 - £8.00 A Coca Cola mirror £10.00 - £20.00
249	A mixed lot of cutlery £10.00 - £20.00	278	A quantity of Private Eye collectibles including
250	A mixed lot of silver plate etc £10.00 - £10.00	210	No.712 with Shey flexi-dish, 13 Punch magazines
251	A framed and glazed watercolour of a horse signed W Twarovsky '93 £10.00 - £20.00		from 1920s, 40s, 50s and 70s, 1921 John Bull magazine and 1887 Boys own paper £10.00 - £20.00
252	A set of 8 folding wooden chairs (some with worn markings) £10.00 - £20.00	279	A mixed lot of bowls, vases etc £10.00 - £20.00
253	A set of 4 framed and glazed Thai silk pictures	280	A mixed lot including 2 Meerkat toys, cigarette card reference book etc £10.00 - £20.00

281	A Casio cash register £10.00 - £20.00	318	4 china trio's and 3 china sandwich plates with cups £10.00 - £20.00
282 283	2 pair of cased binoculars £10.00 - £20.00 A mixed lot of china including Spode, Aynsley etc	319	A suitcase of play worn die cast toys, mainly
	£10.00 - £20.00	220	Matchbox £20.00 - £30.00 A box of pictures £8.00 - £10.00
284	3 boxes of books £10.00 - £20.00	320 321	A suitcase with linen including Christening gowns
285	A large barge ware jug £10.00 - £20.00	321	£10.00 - £20.00
286	An oval bevel edged mirror £5.00 - £10.00	322	A mahogany hall chair £20.00 - £30.00
287	A 21 piece Paragon Michelle pattern tea set £15.00 - £20.00	323	3 glass decanters £8.00 - £10.00
288	A coffee table £10.00 - £20.00	324	A cruet set and a liquor set (missing 2 glasses)
289	A collection of Private Eye magazines, 1970's - 1990's £10.00 - £20.00	325	£10.00 - £15.00 Approximately 30 pieces of dinner ware including
290	A Lima train set and other 00/H0 railway items	326	tureens and meat platters £20.00 - £30.00 A steel companion set £8.00 - £10.00
004	£20.00 - £30.00	327	A pair of vases £8.00 - £10.00
291	A quantity of light fittings £10.00 - £15.00	328	A silver plated biscuit barrel and tray £10.00 -
292	2 boxes of books £10.00 - £20.00		£15.00
293 294	2 railway prints by C Hamilton Ellis £20.00 - £30.00 A pair of brown leather 3 seat sofa's £30.00 -	329	A 1930's heavy solid brass column table lamp £15.00 - £20.00
295	£40.00 A dark brown leather 2 seat sofa £20.00 - £30.00	330	2 boxes of 78 rpm records including pre-war, Elvis
296	A dark brown leather 2 seat sofa £20.00 - £30.00 A dark brown leather 2 seat sofa £20.00 - £30.00		Presley, Bill Haley, Al Jolson, Doris Day etc £10.00 - £20.00
297	2 heavily carved mahogany bed posts £20.00 - £30.00	331	A mixed lot of metal ware including cutlery £10.00 - £20.00
298	An oak wall unit with lead glazed doors £20.00 -	332	A retro ceiling light £10.00 - £20.00
250	£30.00	333	An oriental coffee pot and vase £10.00 - £20.00
299	A mixed lot of drinking glasses £5.00 - £10.00	334	A pair of metal framed vases £10.00 - £20.00
300	A standard lamp and a table lamp £10.00 - £20.00	335	A large quantity of glass marbles £10.00 - £20.00
301	A teak television cabinet £10.00 - £20.00	336	A mixed lot including trinket pots, pin cushion etc
302	A metal framed mirror £8.00 - £10.00		£8.00 - £10.00
303	A mixed lot of mainly agricultural play worn die	337	An oak chair £8.00 - £10.00
	cast including Britain's, Corgi, Matchbox etc £20.00 - £30.00	338	4 albums of Royal Mail PHQ stamp cards £10.00 - £20.00
304	A tall teak book case £10.00 - £20.00	339	A mixed lot of interesting items £10.00 - £15.00
305	2 figures being King George I and King William II £10.00 - £20.00	340	A mixed lot of metalware including trays, cutlery etc £10.00 - £20.00
306	3 oriental figures, a lidded bowl and a horse figure £10.00 - £20.00	341	A quantity of prints including birds, farming, fox hunting etc £10.00 - £20.00
307	A retro coffee set £10.00 - £20.00	342	5 oriental plates £5.00 - £10.00
308	6 Royal Worcester fruit patterned items £10.00 - £20.00	343	A pair of painted wicker corner chairs £10.00 - £20.00
309	10 new Johnson Bros. mugs £8.00 - £10.00	344	A picnic basket and contents £15.00 - £20.00
310	A mixed lot including tea ware (2 shelves) £10.00 -	345	A Kings pattern canteen of cutlery £20.00 - £30.00
044	£15.00	346	4 brass shell cases £10.00 - £20.00
311 312	3 Lilliput lane cottages £10.00 - £15.00 A large candle lamp £10.00 - £15.00	347	A quantity of model railway track, Hornby turn
313	A nest of 3 tables £10.00 - £20.00		table etc £10.00 - £20.00
314	A mixed lot of silver plate £10.00 - £20.00	348	In excess of 100 golf balls £10.00 - £20.00
314	An oak coal box £10.00 - £20.00	349	A mahogany chiffioniere base £20.00 - £30.00
316	2 ceramic fish and 2 figures £10.00 - £15.00	350	A mixed lot including canteen of cutlery, scales, old tins etc £20.00 - £30.00
317	2 pairs of brass candlesticks £10.00 - £20.00	351	A mahogany inlaid plant stand £15.00 - £20.00

352	A framed and glazed promenade scene £10.00 - £20.00	389	A solid body copy of a Fender electric guitar £100.00 - £150.00
353	A tea trolley £5.00 - £8.00	390	A copper warming pan £10.00 - £15.00
354	A copper warming pan £10.00 - £15.00	391	A pair of vases £8.00 - £10.00
355	A mahogany bureau book case £80.00 - £120.00	392	A music centre cabinet £10.00 - £20.00
356	A mixed lot including plates, dishes, mugs etc (12	393	A Lincoln 31 day wall clock £15.00 - £20.00
0.5-7	shelves) £10.00 - £20.00	394	A copper jug and a brass bin £10.00 - £20.00
357	A book case £10.00 - £20.00	395	A quantity of aircraft collector's cards £10.00 -
358	A book case £10.00 - £20.00	200	£20.00
359	A quantity of glass ware including decanters £10.00 - £20.00	396	A portable typewriter £10.00 - £15.00
360	2 soup tureens £10.00 - £20.00	397 398	A small oak book case £10.00 - £20.00
361	A vintage child's sewing machine £10.00 - £15.00	399	A Yamaha F310 acoustic guitar £80.00 - £120.00 A mixed lot including cake stand, vases etc
362	A vintage radio £5.00 - £10.00	399	£10.00 - £20.00
363	A mixed lot including carnival glass £10.00 -	400	A 2 over 3 chest of drawers, a/f £20.00 - £30.00
	£15.00	401	A cuckoo clock £10.00 - £20.00
364	A mixed lot of figures etc, some a/f £10.00 - £15.00	402	A mixed lot of collectibles including Babycham,
365	A mixed lot including sewing items £10.00 - £15.00		Jack Daniels, Andy Capp, Guinness etc £10.00 -
366	A mahogany glazed top book case £30.00 - £40.00	400	£20.00
367	A draw leaf table and 4 chairs £20.00 - £30.00	403 404	An oak Priory style dresser £30.00 - £40.00 A quantity of planters etc £5.00 - £10.00
368	2 20th century Chinese lidded jars and a Murano glass vase £10.00 - £20.00	404	A cottage ware teapot, butter dish and jam pot
369	A box of miscellaneous china £10.00 - £15.00	400	£8.00 - £10.00
370	A recliner arm chair £20.00 - £30.00	406	Approximately 80 7" single vinyl records form late
371	2 wood framed leather chairs with matching foot		1950's to early 1960's (jazz, rock and roll etc) £10.00 - £20.00
	stools £20.00 - £30.00	407	A quantity of sewing items and sewing basket
372	A black saddle, fully dressed £35.00 - £45.00	407	£10.00 - £20.00
373	2 oak mantel clocks and a retro wall clock £10.00 - £20.00	408	4 sets of Matryoshka dolls (Russian nesting dolls) including 20th century Russian leaders, 3 trinket
374	A dressing table £10.00 - £20.00		boxes and 2 brooches £10.00 - £20.00
375	A Mobo rocking horse £20.00 - £30.00	409	A quantity of 78 rpm records £10.00 - £20.00
376	A Stag wardrobe £20.00 - £30.00	410	A mixed lot including jelly moulds £10.00 - £20.00
377	A Stag wardrobe £20.00 - £30.00	411	A wall unit £20.00 - £30.00
378	A sewing machine £10.00 - £15.00	412	2 green glass decanters in the shape of dogs and 2 dog figures £10.00 - £20.00
379	A mahogany extending dining table and 6 brass inlaid elbow chairs £60.00 - £80.00	413	A white 5 drawer chest and matching bedside
380	A framed and glazed print of a lady £10.00 - £15.00	111	chest £10.00 - £20.00
381	A case of LP records £10.00 - £15.00	414	A mixed lot including Wedgwood, Royal Albert etc £10.00 - £20.00
382	A quantity of vintage suit cases etc £10.00 - £15.00	415	A good quality modern corner cabinet £20.00 - £30.00
383	An elbow chair £10.00 - £20.00	416	A large collection of thimbles £10.00 - £20.00
384	A green three piece suite £20.00 - £30.00	417	A mixed lot of glassware including Goebel figure of
385	A Player's Navy Cut crate £10.00 - £20.00		an eagle (2 shelves) £10.00 - £20.00
386	A mixed lot of postal items including history, catalogues etc £10.00 - £20.00	418	A mixed lot of animal figures etc £10.00 - £20.00
387	A large quantity of play worn die cat including	419	A mixed lot of pottery items including Broadstain, Carrigaline etc £10.00 - £20.00
501	Matchbox etc £20.00 - £30.00	420	•
388	A mixed lot including stoneware jars etc £10.00 -	4 ∠ U	A good quality modern painted dresser £75.00 - £95.00
	£20.00	421	A sunset scene £5.00 - £10.00

422	A quantity of trout and salmon fishing rods and fishing accessories £10.00 - £20.00	459	2 deck chairs, shooting stick, parasol etc £10.00 - £20.00
423	A Hamfa sewing machine £10.00 - £20.00	460	2 cream bedside cabinets £10.00 - £20.00
424	A mixed lot of cake stands etc £10.00 - £20.00	461	A golf bag and clubs £10.00 - £20.00
425	A wall unit £20.00 - £30.00	462	2 framed and glazed prints £10.00 - £15.00
426	A vintage Murphy record player £10.00 - £20.00	463	A mixed lot of china, brass etc £10.00 - £20.00
427	A copper warming pan £10.00 - £20.00	464	A folding chair £5.00 - £10.00
428	A large quantity of assorted books (all on book	465	A reel to reel tape recorder £10.00 - £20.00
400	case) £15.00 - £20.00	466	A quantity of prints, frames etc £10.00 - £20.00
429	A tall book case £20.00 - £30.00	467	2 table lamps, figure etc £10.00 - £20.00
430	2 white 3 drawer chests £10.00 - £20.00	468	A small folding table £5.00 - £10.00
431	A roll of Laura Ashley velvet and a fabric blind £10.00 - £20.00	469	2 mirrors £10.00 - £20.00
432	A mahogany bureau (a/f) £20.00 - £30.00	470	4 old oil paintings £10.00 - £20.00
433	A modern mahogany Davenport £60.00 - £80.00	471	A 20th century oriental fish bowl £10.00 - £20.00
434	An oak dining table and 6 chairs £40.00 - £60.00	472	A mixed lot including cutlery £10.00 - £20.00
435	A framed and glazed country scene £10.00 -	473	A Ferguson stereo receiver etc £10.00 - £20.00
400	£15.00	474	A Technics music centre £10.00 - £20.00
436	An oak side table and a stool £10.00 - £15.00	475	A box of miscellaneous items £10.00 - £20.00
437	A tin plate Codeg telephone exchange, peter pan	476	A box of books £8.00 - £10.00
	speller quiz and a large quantity of wooden	477	4 tool boxes and contents £20.00 - £30.00
438	building blocks £10.00 - £20.00 A quantity of Grandfather clock faces £20.00 -	478	A large quantity of tools including saw blades £20.00 - £30.00
439	£30.00 A framed and glazed print entitled 'Hyde Park	479	A set of 4 garden chairs and matching parasol £10.00 - £20.00
	Common' £10.00 - £20.00	480	2 golf bags and clubs £10.00 - £20.00
440	A gilt framed bevel edged mirror £8.00 - £10.00	481	2 old suitcases £10.00 - £20.00
441	A pair of Victorian oak framed portraits £20.00 - £30.00	482	2 walnut 2 drawer chests £10.00 - £20.00
442	An old bureau £20.00 - £30.00	483	A quantity of tools including garden £10.00 -
443	A mixed lot of old games etc £8.00 - £10.00		£20.00
444	A satellite dish etc £10.00 - £20.00	484	A vintage enlarger, projector and slide projector £10.00 - £20.00
445	37 boxed pairs of jellies ladies shoes and 7 boxed	485	A garden table £20.00 - £30.00
	pairs of children's shoes £50.00 - £60.00	486	A quantity of LP and 45 rpm records £10.00 -
446	An arts and crafts wardrobe, a/f £20.00 - £30.00		£20.00
447	A quantity of golf umbrellas, folding stool etc £10.00 - £20.00	487	6 folding garden chairs £20.00 - £30.00
440		488	A white framed bevel edged mirror £10.00 - £20.00
448 449	A pixed let of prints \$10.00 - £30.00	489	A Delta air conditioner £20.00 - £30.00
	A mixed lot of prints £10.00 - £20.00	490	A good quality folding bed £10.00 - £20.00
450 451	A wall light and a candleholder £5.00 - £10.00	491	A box of pots and pans etc £5.00 - £10.00
451	A mixed lot of glass and china £10.00 - £20.00	492	A quantity of old clock parts £10.00 - £20.00
452	A very large quantity of old beer mats including rare examples £20.00 - £30.00	493	A mixed lot of garden tools etc £10.00 - £20.00
453	A quantity of prints £10.00 - £20.00	494	An old chimney pot £10.00 - £20.00
454	3 old pictures £5.00 - £10.00	495	A large double ladder £20.00 - £30.00
455	A cream wardrobe £20.00 - £30.00	496	A Bosch strimmer and leaf blower £10.00 - £20.00
456	A tall wardrobe £10.00 - £20.00	497	A decorator's step stand £10.00 - £20.00
457	A suitcase full of wedding attire £10.00 - £20.00	498	4 packs of Quickstep 800 wood effect laminate flooring with roll of underlay £10.00 - £20.00
458	A white 5 drawer chest £10.00 - £20.00	499	A 1930's cupboard £10.00 - £20.00

- 500 A Stag wardrobe £20.00 £30.00
- 501 A Peugeot racing bicycle £10.00 £20.00
- 502 A wood framed 3 piece suite £20.00 £30.00
- 503 A metal bedstead £20.00 £30.00
- 504 A 3 door Stag wardrobe £30.00 £40.00
- 505 A Double Stag bed complete with mattress £20.00 £30.00
- 506 A Hypnos double divan with mattress £20.00 £30.00
- 507 A single Myers divan with mattress £20.00 £30.00
- 508 2 stone garden benches £20.00 £30.00
- 509 An oak wardrobe £10.00 £20.00
- 510 A patterned rug, 169 x 339 cm £20.00 £30.00
- 511 A red patterned rug, 140 x 198 cm £20.00 £30.00
- 512 A 1930's wardrobe £10.00 £20.00
- 513 A 1930's wardrobe £10.00 £20.00
- 514 A 1930's wardrobe £10.00 £20.00
- 515 A modern glazed display cabinet £20.00 £30.00
- 516 2 rugs £10.00 £20.00
- 517 A modern corner cabinet £20.00 £30.00
- 518 A garden wall feature £10.00 £20.00
- 519 A Royale microwave oven £10.00 £20.00
- 520 A White Knight tumble drier £10.00 £20.00
- 521 An Electrolux fridge freezer £20.00 £30.00
- 522 A Tricity Bendix cooker £20.00 £30.00
- 523 A wrought iron stand £10.00 £20.00
- 524 A china cabinet £10.00 £20.00
- 525 A 1930's sideboard £10.00 £20.00
- 526 A formica topped table £5.00 £10.00
- 527 A coffee table £5.00 £10.00
- 528 A coal bucket, fire guard and companion set £10.00 £20.00
- 529 A bedside cabinet £5.00 £10.00
- 530 A small oak gate leg table £10.00 £20.00
- 531 A 1930's wardrobe £10.00 £20.00
- 532 A 1930's dressing table £10.00 £20.00
- 533 A modern metal bedstead £20.00 £30.00
- 534 A tool box and large quantity of tools £20.00 £30.00
- 535 A set of 4 chairs £5.00 £10.00